


&m Assignment

*,, all Changes Always Be Reversed?

(3
. Tick (¥) the natural changes in the following:

i Blooming of flowers () 2. Plucking of flower i
3. Ripening of mango A 4. Cooking of food Es
5. Change of seasons :_\a' 6. Trimming of nails b
7. Increase in height Q’ 8. Baking of bread f
9. Blowing of wind Q/ 10. Rusting of iron }

8. which of the following changes cannot be reversed? [NCERT Exemplar Problems]

1. Blowing of a balloon: | EQME g_g? b} .
2
Folding a paper to make a toy aeroplane: @QVE.&LS ! bl{_’_,
Rolling a ball of dough to make roti: QQMQLAT_H_E,
v . e 8
Baking cake in an oven: | Hg;;ggél Hﬁ!
Drying a wet cloth: MMI{.’L
A
Making biogas from cCOW dung: MMJEL

Burning of a candle: MMEALEI &,

C. Paheli mixed flour and water and (i) made a dough, (ii) _rolled the doug_lh to
make a chapati, (iii) baked the chapati on a pan, (iv) dried the _chapai_:l and
grinded it in a grinder to make powder. Identify the changes (i) to (iv) as

the changes that can be reversed or that cannot be reversed.
[NCERT Exemplar Problems]

N9 VA W

three situations: 1. a burning candle 2. an extinguished candie

D. Look at figure which ShOWS
[NCERT Exemplar Problems]

3. melting wakxX.
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(NCERT Exemplar Problems]

A. Multiple Choice Questions:
ersed from the following:

1. Pk the change that can be rev
;ibj ME!{Iﬂg of ghee :":a/’

(a) Cutting of trees
(c) Buming of candie | (d) Blooming of flower L=

Which of the following changes cannot be reversed?

b

(a) Hardening of cement P o (b) Freezing of ice cream [ |

(c¢) Opening a door _' (d) Melting of chocolate
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. An Iron ring is heated. Which of the following statements about it s incorrects ""'E

(@) The ring expands. —

(b) The ring almost comes to the same size on cooling. =
(c) The change in this case is reversed. *:J
A (d) The ring changes its shape and the change cannot be reversed. (q/
.- 4. While lighting a candle, Paheli observed the following changes:

(i) Wax was melting.
. (i) Candle was burning.
&_ | (iii) Size of the candle was reducing.
(iv) Melted wax was getting solidified.
Of the above, the changes that can be reversed are
(@) (i) and (ii) :] | (b) (ii) and (iii)
(c) (iii) and (iv) :] (d) (i) and (iv)

5. Salt can be separated from its solution (salt dissolved in water), because

U

(@) mixing of salt in water is a change that can be reversed by
heating and melting of salt.

(b) mixing of salt in water is a change that cannot be reversed.

(c) mixing of salt in water is a permanent change.

(d) mixing of salt in water is a change that can be reversed by
evaporation.

6. Rolling of chapati and baking of chapati are the changes that
(a) can be reversed.
(b) cannot be reversed.
_(c) can be reversed and cannot be reversed, respectively.
(d) cannot be reversed and can be reversed, respectively.

7. Iron rim is made slightly smaller than the wooden wheel. The rim is usually heated
before fixing into the wooden wheel because on heating, the iron rim

RN W et Rt T g a0 1, L
ol L a4 15y Ny i B T k PR AP SR by

0900 § 00O

(@) expands and fits onto the wooden wheel.
(b) contracts and fits onto the wooden wheel.

(c) no change in the size takes place.

(d) expands first, then on cooling contracts and fits onto the wooden
wheel. _. |

W € 000
3 q ¥
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10.

Changes can be compar
E. ; ¥
and -[\OA’(F ~ chang growing up IS d (\j/ﬁ L)

Climbing up stairs IS a _

change.

£ a.»b*f change, while

as per their desirability. For example, the

Sometimes, changes can be classified > L/ R i v i a
burning of wood in fire place IS (;;/C 3 Y AEW

forest fire is Lol A4 b/0) b 00’”3@5‘5 AT AT

occur around us on their own, such as Flow

Many changes

Eor

: Hmkfh : E:'ja
Cﬂ?:ﬂffg‘a/ #7 and _from Cow du,.\‘?qm‘

Many changes are caused by us, such as __fo :
The changes which can be reversed are called .jiwf,?j_..&_jble, changes.

J )
The changes which cannot be reversed are called |y € Vesi81 blechanges.

The melting of wax is different from burning of wax because the ff,-rmer IS an
example of .Ef{guf*f_ﬂ‘bl_eb change, while the latter is of Lo v08s) hlechange,

The burning of an incense stick is __immems}b[echange.
4
Cutting of vegetable and cooking of vegetable are both MM&&Q changes.

C. Some changes have been given in the table. State whether the change can

be reversed or not. Also,

. —— — TSR e S

write the name of substance formed.

Change , 26 /N
;. :;ss?lution of salt in water | | 5__ s L
. Sourin
3. The mgelt?rigm;: i([::CZ:dy [NCERT] E ;lco E e
S Nl O
4. Boiling of egg ND N- D.- :
5. Grinding of grain Nb | N D.
6. Cow dung to biogas e | : \/ 5~
7. Making cheese from milk iy —J2
8. Knitting of yarn _ﬁ_“—\.f-ﬁ’i- e G YM‘“‘" )
J. Sawing a piece of wood Neer) | LRI_‘D- - B —
10, Dissolving sugar in water [NCERT) __gég v N_Q_,_____
11.  The cooking of food [NCERT] R [t BN
. - -E—N—D_ﬁ_ﬁ__ gs N Y Sl
e S T L Np

j T S—
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o R i 1 . l.;j
5 How Is the fron blade fixed into wooden handles of digging tools:

Tl (0on blade o bealtd Lo a Vi”(-‘/ f{‘g /i’ﬂ Fedagpesgy,,
R b A o AL s THO 1) 002, aANnalls 4d ftxepl ) .
If %‘(Uﬁf’f;f;{;;,,}mfdf mW (< o Fo ‘é cl 27754

yactsand Forms +h Sequived cli
we heat water in?a ‘pan, it begins to boil after some time, On further Im,:,f?r-];;ﬁa;
water in the pan starts reducing. Why? | T e o1t &
Whew Loalery b 4wdhest {realedl f‘fﬂﬁ-"ﬂr é‘m!"’?’f LLS Alake.c fxr?z%

I 1ato wapstor anol gels Lot Lute swetbtioliig.
! j' s e g sy - . r {r :

/. Complete the following:

6.

T (cooling) = (cooling)
BYG = ISRTER oot

— (heating)

PUATE R
___VAPOUR

R L - {heatlngf

8. A black material called tar i iri
s used for repairing roads. What type of cha -
N tar on heating? ; & e oo

2 o |
-@,‘Mmﬁ?ﬁm, it becomes LW D an
LIsepes £éale_cha_4y€ |

9. How is curd formed from milk?

HOTE,E

e —

e ——— e — _—

'everse this
[NCERT]

g
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"}‘-“--ﬂf%/a wW¥th S atn Li 0L_Sexessed aJ_EQPm -'
Short Answer Questions T _CL"}”'{J' ¢ “""'?'I:J/ 80 an LAY weresd bl
- /'?/u«:&ge .

se this change? If an inflated
reverse this change? Explain.

_ 4 Cujb GQCO/)C.E' Std - Ha@;rg,a- 1] 2
LAl C 1h4 . |
canzaof e 242/ aled o . df 231/ Blewt  suth a balin
Thed i 4 aAn .Lk.&e uerens ble (‘haa’g

the followung changes:

by folding paper and
from paper.

OINTAN I Depese 14 folde d € Lan
Loonke o beoat
_L:Lné:o(c/ J«E'LQ lwa} «Q#Ltiac k_wé-fn a@%@ﬂ%dtzcz‘t

2. Cite the difference between
(@) Making a toy boat
(b) cutting out 3 boat

¢ LIOHAL NG 3 (£ i€t 'ﬁi&hﬂetlﬂ?ﬁxﬁm“
4. Observe the following diagrams and ex
plain each stage At
obtain the lump of clay back? : b ot a
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A potter workin
the pot in an oven. Do these i i
dlfferent? Gwe your opinion and Jus

. {.’ . / .J /), AN / ’ '

_ o ;:L;,_J;E.Aﬁ,md /i’ %&LJ@

| 2,
5. How is it possible to fit the metal rim over a cart wheel tightly: Explain.
/8 y vy p O

mé-_éf_iwm al J;.‘{-.«-. Ay ASbraadd L1aM
ﬂuaﬂn@&ﬂw Oty
Viphbly o1ty et ‘uﬂ By IIIYY: %}M%g

6. A piece of lron is heated till it becomes red-hot. It then becomes soft and is
5 Dbeaten to a desired shape. What kind of changes are observed in this process-

reversible or irreversible?
ersible: [NCERT Exemplar Problems)

Or

How does a blacksmith :
_ Change a piec : :
change occurs in iron? piece of iron
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8. Do the ch-anqmmm
of such changes—one m

i" : "*..1.... _,,:{Uffi

..ia"*;””" . ;"{?E‘Lm

¥ ll.
B % *_r__ =
PSS - .
. AT i i
Toih i 1‘. Ih!."-'- .
- 1
o

et
- d 5 :
Y * B L] s .
I R - T
- ' - ..
o

9. Boojho's sister broke a white dove, a symbol of
(POP). Boojho tried to reconstruct the toy by

pieces and then making a paste by mixing watef. wil t
effort? Justify vour answer.

AD. becaysc ' o { Xle

Pd‘h *{Cﬂr. ..C/c be - /hé.'..a Aﬂ"ﬁd .’l"
AN, g1 10 31e1000s26lP. « Ptd LR
_Ic/ O/ ﬁ pe

0 _oS2mo FDP A 1'/ oxd 4( J*-'_

10, Pahehhadboughtanf:wMttleofp-ck}eﬁ'omthemrket Shaﬂ'd
metal cap to taste it but could not do so. She then tookabowld
andimmersedtheupperendofmebottieinrtforﬁveminutesShe
open the bottle now. Can you give the reason for this? [NCERTW

7he_melal L & 2he Alckle bottle
—od Are Fo /Lgﬁﬂ.:zzm/wéﬁa:zma_ﬂéﬁzﬁe

Tvesn, the Aot cocdd 4o %%W

A e i S e am————————

e R

11, Abagdwwtlvingmtheoomgetswetduetoralnduﬂngthenwm

next day the sun shines brightly. Do you think the changes, which have occurred
hﬂ\ewnmt,omﬂdbereversem [NCERT)

..... cotdd rnot 4o swiescied
w&;&iéﬁc m@feds The Cenlet
23l i e 1 202%0m H, %ﬂ.&ﬁﬁm_ i lces Lf

?
W_nﬂllﬂa_éfﬁ:?x_ Lty ol b€ PUuciels
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